Tabulation of Bids

Awarded to:	Date Awarded:	Amount Awarded
Haas Sons, Inc.	09/23/24	\$1,076,783.34

	Project Mana	ger: Colin Davidson	Consultant:	Mead & Hunt
State of Wisconsin	Airport:	Chippewa Valley Regional	Bid Date:	6/20/2024
Department of Transportation	Project:	Reconstruct/Reconfigure Taxilanes J, K, L	Bid Time:	2:00 P.M.
Bureau of Aeronautics	Bid for:	Construction	DBE Goals:	3.04%

			A-1 Excavating PO Box 90 Bloomer, WI 54		Haas Sons, Inc. 203 E Birch St Thorp, WI 54771-9609		McCabe Construction, Inc. PO Box 1769 Eau Claire, WI 54702-1769	
Bid Item Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
C10001 - CONTRACTOR QUALITY CONTROL PROGRAM (ASPHALT)	1	LS	\$29,000.00	\$29,000.00	\$33,432.04	\$33,432.04	\$30,138.25	\$30,138.25
C10201 - INSTALLATION AND REMOVAL OF SILT FENCE	716	LF	\$3.00	\$2,148.00	\$2.30	\$1,646.80	\$2.44	\$1,747.04
C10202 - INLET PROTECTION TYPE B	18	EA	\$70.00	\$1,260.00	\$120.00	\$2,160.00	\$127.20	\$2,289.60
C10203 - CULVERT END CONTROL	1	EA	\$200.00	\$200.00	\$150.00	\$150.00	\$212.00	\$212.00
C10204 - SOIL STABILIZATION	1	AC	\$1,000.00	\$1,000.00	\$1,800.00	\$1,800.00	\$927.51	\$927.51
C10501 - MOBILIZATION (10% MAX)	1	LS	\$126,300.00	\$126,300.00	\$66,152.00	\$66,152.00	\$77,700.00	\$77,700.00
D70101 - STORM SEWER, 12" RCP, CLASS V	500	LF	\$85.00	\$42,500.00	\$65.00	\$32,500.00	\$53.00	\$26,500.00

			PO Box 90		Haas Sons, Inc. 203 E Birch St Thorp, WI 54771-9609		McCabe Construction, Inc. PO Box 1769 Eau Claire, WI 54702-1769	
Bid Item Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
D70102 - STORM SEWER, 15" RCP, CLASS V	299	LF	\$91.00	\$27,209.00	\$71.00	\$21,229.00	\$60.00	\$17,940.00
D70103 - STORM SEWER, 18" RCP, CLASS III	213	LF	\$92.00	\$19,596.00	\$69.00	\$14,697.00	\$58.00	\$12,354.00
D70104 - STORM SEWER, 24" RCP, CLASS III	106	LF	\$118.00	\$12,508.00	\$90.00	\$9,540.00	\$85.00	\$9,010.00
D70105 - PRECAST FLARED END SECTION FOR 12" RCP, CLASS V	1	EA	\$1,400.00	\$1,400.00	\$1,300.00	\$1,300.00	\$1,125.00	\$1,125.00
D75101 - INLET, 48-INCH DIAMETER	8	EA	\$6,800.00	\$54,400.00	\$5,650.00	\$45,200.00	\$5,500.00	\$44,000.00
P10101 - REMOVE CONCRETE PAVEMENT REMOVAL (FULL DEPTH)	350	SY	\$12.00	\$4,200.00	\$8.00	\$2,800.00	\$9.00	\$3,150.00
P10102 - REMOVE BITUMINOUS PAVEMENT REMOVAL (FULL DEPTH)	10,900	SY	\$3.00	\$32,700.00	\$1.00	\$10,900.00	\$2.50	\$27,250.00
P10103 - SAWCUT BITUMINOUS PAVEMENT, FULL DEPTH	1,110	LF	\$3.00	\$3,330.00	\$2.25	\$2,497.50	\$2.12	\$2,353.20
P10104 - SAWCUT CONCRETE PAVEMENT, FULL DEPTH	25	LF	\$4.00	\$100.00	\$3.25	\$81.25	\$2.49	\$62.25
P10105 - REMOVE STORM SEWER PIPE	544	LF	\$17.00	\$9,248.00	\$16.00	\$8,704.00	\$13.00	\$7,072.00
P10106 - REMOVE STORM SEWER INLET	5	EA	\$600.00	\$3,000.00	\$300.00	\$1,500.00	\$400.00	\$2,000.00
P15201 - UNCLASSIFIED EXCAVATION	4,600	CY	\$20.00	\$92,000.00	\$10.00	\$46,000.00	\$16.50	\$75,900.00
P15401 - GRANULAR SUBBASE COURSE	390	CY	\$1.00	\$390.00	\$25.50	\$9,945.00	\$57.00	\$22,230.00
P20801 - AGGREGATE BASE COURSE	2,638	CY	\$44.00	\$116,072.00	\$29.85	\$78,744.30	\$46.00	\$121,348.00

				PO Box 90		Haas Sons, Inc. 203 E Birch St Thorp, WI 54771-9609		McCabe Construction, Inc. PO Box 1769 Eau Claire, WI 54702-1769	
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
P40101 - ASP	HALT SURFACE COURSE	1,680	TON	\$163.00	\$273,840.00	\$158.40	\$266,112.00	\$167.91	\$282,088.80
P40102 - ASP	HALT BASE COURSE	1,680	TON	\$154.00	\$258,720.00	\$149.87	\$251,781.60	\$149.08	\$250,454.40
P60301 - EMU	ILSIFIED ASPHALT TACK COAT	750	GAL	\$6.00	\$4,500.00	\$5.00	\$3,750.00	\$5.30	\$3,975.00
P62001 - PAIN	ITING, REFLECTORIZED, YELLOW, WATERBORNE, TYPE 1	1,370	SF	\$3.00	\$4,110.00	\$2.69	\$3,685.30	\$2.85	\$3,904.50
P62001 - PAIN	NTING, BLACK, WATERBORNE, TYPE 1	270	SF	\$3.00	\$810.00	\$2.69	\$726.30	\$2.85	\$769.50
T90101 - SEEI	DING, SEED MIXTURE 20	350	LB	\$15.00	\$5,250.00	\$17.75	\$6,212.50	\$18.82	\$6,587.00
T90102 - TEM	PORARY SEEDING	375	LB	\$1.00	\$375.00	\$3.25	\$1,218.75	\$3.45	\$1,293.75
T90103 - FER	TILIZER, TYPE A	10	CWT	\$200.00	\$2,000.00	\$100.00	\$1,000.00	\$106.00	\$1,060.00
T90501 - TOP	SOIL (FURNISHED FROM OFFSITE)	2,180	CY	\$0.05	\$109.00	\$24.00	\$52,320.00	\$23.00	\$50,140.00
T90801 - MUL	CHING - SOIL STABILIZER TYPE A	13,000	SY	\$0.50	\$6,500.00	\$1.50	\$19,500.00	\$1.59	\$20,670.00
L10801 - NO. 8	8 AWG, 5kV, L-824, TYPE C CABLE, INSTALLED IN DUCT BAN	1,150	LF	\$2.00	\$2,300.00	\$1.90	\$2,185.00	\$2.03	\$2,334.50
L10802 - NO. 6	6 AWG, SOLID, BARE COPPER COUNTERPOISE WIRE, INSTA	920	LF	\$2.60	\$2,392.00	\$2.50	\$2,300.00	\$2.68	\$2,465.60
L11001 - NON	-ENCASED ELECTRICAL CONDUIT, 1-WAY 2-INCH	920	LF	\$6.30	\$5,796.00	\$6.00	\$5,520.00	\$6.42	\$5,906.40
L11002 - NON	-ENCASED ELECTRICAL DUCT, 2-WAY 4-INCH	110	LF	\$50.00	\$5,500.00	\$47.00	\$5,170.00	\$50.32	\$5,535.20

				PO Box 90		Haas Sons, Inc. 203 E Birch St Thorp, WI 54771-9609		McCabe Construction, Inc. PO Box 1769 Eau Claire, WI 54702-1769	
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
L12501 - SAL	VAGE MITL STAKE MOUNTED	14	EA	\$126.00	\$1,764.00	\$120.00	\$1,680.00	\$128.47	\$1,798.58
L12502 - REL	OCATE MITL STAKE MOUNTED	9	EA	\$926.00	\$8,334.00	\$882.00	\$7,938.00	\$944.28	\$8,498.52
L12503 - BAS	E CAN L-867 WITH LID	4	EA	\$1,523.00	\$6,092.00	\$1,450.00	\$5,800.00	\$1,552.38	\$6,209.52
NS01001 - LO	CATE AND PROTECT EXISTING AIRFIELD ELECTRICAL	1	LS	\$1,575.00	\$1,575.00	\$1,500.00	\$1,500.00	\$1,605.92	\$1,605.92
NS02001 - TE	MPORARY LIGHTING	1	LS	\$3,990.00	\$3,990.00	\$3,800.00	\$3,800.00	\$4,068.32	\$4,068.32
NS03001 - RE	INSTALL AIRPORT OWNED LIGHT POLE ON EXISTING BASE	2	EA	\$630.00	\$1,260.00	\$600.00	\$1,200.00	\$642.37	\$1,284.74
NS03002 - 1S	LIGHT FIXTURE	2	EA	\$1,070.00	\$2,140.00	\$1,020.00	\$2,040.00	\$1,092.02	\$2,184.04
NS04001 - 6-I	NCH DIP, CL 52 WATER MAIN	15	LF	\$125.00	\$1,875.00	\$74.00	\$1,110.00	\$61.00	\$915.00
NS04002 - 8-I	NCH DIP, CL 52 WATER MAIN	230	LF	\$127.00	\$29,210.00	\$92.00	\$21,160.00	\$85.00	\$19,550.00
NS04003 - 8-I	NCH PLUG	1	EA	\$525.00	\$525.00	\$450.00	\$450.00	\$275.00	\$275.00
NS04004 - 8-I	NCH, 45 DEGREE BEND	2	EA	\$800.00	\$1,600.00	\$850.00	\$1,700.00	\$450.00	\$900.00
NS04005 - 6-I	NCH GATE VALVE AND BOX	1	EA	\$2,800.00	\$2,800.00	\$2,800.00	\$2,800.00	\$2,100.00	\$2,100.00
NS04006 - 8-I	NCH GATE VALVE AND BOX	1	EA	\$3,800.00	\$3,800.00	\$3,600.00	\$3,600.00	\$2,850.00	\$2,850.00
NS04007 - HY	/DRANT	1	EA	\$6,900.00	\$6,900.00	\$6,300.00	\$6,300.00	\$5,900.00	\$5,900.00

		PO Box 90		Haas Sons, Inc. 203 E Birch St Thorp, WI 54771-9609		McCabe Construction, Inc. PO Box 1769 Eau Claire, WI 54702-1769		
Bid Item Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
NS63401 - AIRPORT SAFETY & TRAFFIC CONTROL	1	LS	\$45,000.00	\$45,000.00	\$1,000.00	\$1,000.00	\$16,350.00	\$16,350.00
NS63701 - SIGNS TYPE II (TYPE F REFLECTIVITY)	19	SF	\$85.00	\$1,615.00	\$55.00	\$1,045.00	\$58.30	\$1,107.70
NS64201 - MAINTENANCE AND RESTORATION OF AIRPORT HAUL ROADS	1	LS	\$500.00	\$500.00	\$1,200.00	\$1,200.00	\$907.16	\$907.16
Base Bid Total				\$1,269,743.00		\$1,076,783.34		\$1,198,998.00